TRIG—SEC. 1.4 —RT. TRIANGLE,APPLICATIONS

Angle of Elevation — an angle measured from the horizontal, upward
Angle of Depression — an angle measured from the horizontal, downward
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Ex. #1

The horizontal shadow of a vertical tree is 23.4 n} leng when the angle of elevation of the

sun is 56 3° How tall is the tree?
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Ex. #2

A radio station antenna is supported by wire cables, which are attached to the top of the
antenna: The points where the cables are anchored to the ground are 250 ft away from
the antenna. If the cables are 610 ft long, find the measure of the angles formed by the

antenna and the cables, and the height of the antenna. N
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Ex. #3

A bird is flying at an elevation of 1530 m. The angle of depression from the bird to the

bottom of a telephone pole is 20° 30°. What is the horizontal distance from the bird to a
point directly above the telephone polf:‘7 '
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o (—l—»&x)[’% ¥+ Ko 310 %H\S‘S@
0584 & XAy T X 4SS
e oY - IS

s

o,k = Y Am ST T XImET
(ors JA B 2,554 = X [+enSTT - FnP)
Fan ST 2. = 9= =X A SS 2,894 = O, F33D%
% Lt —_—
. O, b, §2=3
Fo 2= 2 . EE
d.g ¥t Y= DUl

I G e PR

e “= 3&:&.@—%%}
*p36, #11 L

/ b f _ .
N Bl
1‘7\.@44&?% N j};,ﬁ(*ﬁ"*n‘!”a

ﬁ%”"d‘c I M&«a} L=

1) - N . »
'y -, S -
ALIA oS . 5+ 25 53&3 S
o e
4.9% as).»{z(%} Sl S S(4em2v") F X FmnDF 347 s
‘ g a4 x 4wy = Ok T AT
7(75"/‘@’ — X+ D% - R A=

gt

5 ashy = A {AmuaT Mm}

4;(/}7@ .,;‘m‘;};,. 450 2,924 = . Clg+ ¥
1\ 55} 6. LI b, -t 52
Nz 4,723

Y 4303 (F24a7)

|



